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A neonate is said to be premature if the birthweight is less or equal to
2500g

The health problems seen in children depends on the following except
Complexion

One of the following is not a neonatal infection
Spondylosis Neonatorium

Remainthe baby is usually associated with
Youngest Children

One of the following is a process that determines birth weight
Intrauterine growth rate

The following are domains in child development except
Intrauterine growth rate

The following are domains in child development except
Financial

The influence of heredity on child development can be manifested in
Temprament

Causes of neonatal diarrhoea include the following except
When babies are kept close to their mothers

Environmental influences affecting development of children in school include the 
following except
Rivalry

Neonatal deaths are due mainly to the following except
Gender
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